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Question Number : 1 Question Id : 5447341121 Display Question Number : Yes Is Question
Mandatory : No

: . i
f:R— R and g: R — R are two functions such that f(x) = x” and g(x) = Z then
x* (fog) (x) is equal to
fiR = R 208050 g: R — R 0 ot Hdoairen, f(x) = 1% &8asw g(x) 2;12 m
ARosedd, x* (fog) (x) H PAFI20NHG

Options :
1. % 0

Question Number : 2 Question Id : 5447341122 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

The domain of the function f(x) =

1 ;
—R
vix|[—x

1
flx)= 93 DI00DAL ANE) DEHID
Y

Vx|
Options:

2. v =20

L« (—0,0)\ {0}
4 % (—o0, 00)

Question Number : 3 Question Id : 5447341123 Display Question Number : Yes Is Question
Mandatory : No

—-3,x<0
[.] represents greatest integer function. Let g(x) = 1+ x — [x] and f(x) = I 0, x=0then
5 E2 0
flg())is
=gl )
[.] 06 85 370 0w 00w , g(x) = 1+ — [x] S080%0 f(x) = [0, r=0
5 x>0

039 Both IaLrRaNd f(g(x)) © HAFHIWHG

Options :

L w f
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Question Number : 4 Question Id : 5447341124 Display Question Number : Yes Is Question
Mandatory : No

1t +2* +3 4t = f)(1* + 22+ +n*),¥ n € N, then f(4) =

VaeEN©1* +2* +3*+ ot nt = F)(12 + 2%+ + 1) 0o f(4) =

Options :
58
1.% 2
57
2.% 3
59
3.¢ 5
56
4.% 3

Question Number : 5 Question Id : 5447341125 Display Question Number : Yes Is Question
Mandatory : No

Which of the following matrices is not a square-matrix?

& 300T8S° DB BBVGH ATAE 5°?

Options :
1. % [1]
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Z 2
Z 2
2. %
;w3 3 3]
11 1
11 1
Lxddt &4

Question Number : 6 Question Id : 5447341126 Display Question Number : Yes Is Question
Mandatory : No

If A is a non-singular matrix such that A. AT = A". Aand B = A™%. AT then

A w8 0o args AL AT = AT.A 200030 B = A1 AT edhitnots

Options :

| « A.B' =1
, ¢ B.B' =1
5« ALBT =1
4 x R =0

Question Number : 7 Question Id : 5447341127 Display Question Number : Yes Is Question
Mandatory : No
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a a o=y

let0+a€zandA=|a a+x a |beamatrix. Thenequation det4 = 16
a a a
represents
a a a-y
0zaCzsdamwA=|a atr a |af3ras odogtnsm detd = 16 Hrdod
a a a
e L
Options :
a parabola
1% 2,5 DT DVOBDD
a circle
5 % 28 Dyd2w

an ellipse

208 BF By
3. % -

a rectangular hyperbola

&6 BAV6R 98 HTHLOEAW
4.4 %

Question Number : 8 Question Id : 5447341128 Display Question Number : Yes Is Question
Mandatory : No
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Let A be a 2 X 2 matrix with real entries. Let [ be the 2 X 2 identity matrix. Tr(A) denotes the

sum of diagonal entries of 4. Assume that At=1.
Statement I: IfA # [ and A # —I then det 4 = -1
Statement [ IfA # Jand A = - then Tr 4 #0

TR "foca}ﬁvg i)dbda AR 2 X2 ards 200k [ 03 2 X 2 788 R3RGTaw. AP =
™ S8R

DOFGT: A =1 Bosw A = —] eand detd = -1

DOFEIM: A= 00w A+ —TewawdTrd=0(4 aws), )

Options:

Statement I 1s true. statement IT is true: statement I is a correct explanation for statement I
DO T 208080 IT a0 2w, PAFEHAW 1T PBFEHAW T R GyHH6RVA

Statement [ 1s true, statement II 1s true; statement II 1s not a correct explanation for statement I
2O GHA0 T 200050 1T e J2dw. 5°0 8T T 28I ¢80 T R0 GbdEEd

Statement I 1s true. statement II 1s false
DAGSBE1 T D200 520 1T D280 5760

Statement I 1s false, statement I 1s true
DA GHA0 T D200 570 == 11 250

Question Number : 9 Question Id : 5447341129 Display Question Number : Yes Is Question
Mandatory : No

The sum of two lower triangular matrices is always

ot GO SZ02 PGS B J}P;j};’;:j:]dj“
Options :
1. %
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an upper triangular matrix
28 QD HZDB TGS 9NBVd

an lower triangular matrix
28 HD SZL2 PGS WHHS

a diagonal matrix
2,8 ng ArGS WHBS

a scalar matrix
2.5 0% 2GS B0 d

Question Number : 10 Question Id : 5447341130 Display Question Number : Yes Is Question
Mandatory : No

1 2 3 4

E-E{}ZD + JI:2!(]21 (] i2022 + I-ZDE.E o

Options:
1% 3V2

4 % V2

Question Number : 11 Question Id : 5447341131 Display Question Number : Yes Is Question
Mandatory : No
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2
What is the product of all the values of (1 — i )5 =

2
(1)@ G0 Y QeVHL ug.;.‘m Doh?

Options :

1.v el

3. % —2

Question Number : 12 Question Id : 5447341132 Display Question Number : Yes Is Question
Mandatory : No

For the equation x2 — 5 |x] — 14 = 0.,

¥ — 5lx]| — 14 = 0 2D€6erE Soreren

Options :
all roots are real

w:};[ SATTETRRN) STERISTTRL
1.¢ =

all the roots are imaginary
©d) durered sdyorew

Two roots are real
OoC) 0TPere) JPRT7eD
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No real roots
TTRD dareren G

Question Number : 13 Question Id : 5447341133 Display Question Number : Yes Is Question

Mandatory : No

If @, § and y are the roots of the equation x> — 3x2 4+ x + 5 = 0 theny = ¥ a* + afy

satisfies the equation

x® =3+ x 45 = 0 HEGTIS @, f 208080 ¥ o JrerTd, v = Ya’ +afy
S0FerRITPHY HAEGRAL DA?

Options :

Yy 4y4+2=0

1. %

y -y —y-2=0
2.9

Question Number : 14 Question Id : 5447341134 Display Question Number : Yes Is Question

Mandatory : No
1 1

1 1 4 — —
Imn=3and—+—= e then the value of 0.1 +0.1™ +0.17" 15
m n

i 1
1 1 4 R hE,
mn =3 ;ﬁjﬁm—+—l =5 0@, 0.1 +0.1™ +0.1™ Dend dodd?

m T
Options :
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1

)
1 0.2+ 0.1

=3 1
. 01+013 +0.12

4 k5
. 0.14+013 40172

1

1
01+0.1% +0.12

Question Number : 15 Question Id : 5447341135 Display Question Number : Yes Is Question

Mandatory : No
"
Which of the following condition imply that roots of the equation (I) X 4+br+c=0are integers?
1
(I) xF 4 bt 0 = 0 Hdogtn duroines rghonien STvel, & Sob TH6' 6 Jadw?
Options :

b & ¢ are even integers

bh&ece “faﬁ“foaa:ém
2. %

2 . ’ ; :
b™ — ¢ 1s the square of an integer and b is an integer

b? — ¢ 28 DPT0S D60 2B0I0 b 208 DPT oS
3. o &9 r Ed
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b & ¢ are mtegers

b & ¢ e RPFTTosS0en
4. % o

Question Number : 16 Question Id : 5447341136 Display Question Number : Yes Is Question
Mandatory : No

The value of 32_, (19—;-}C3 4+ 1°¢, is equal to

4 Qe+ 156, Hens

Options :
21(-:4

1'§Jﬂ!1
2. ®

20
Ca
3.¥

16¢,
4. %

Question Number : 17 Question Id : 5447341137 Display Question Number : Yes Is Question
Mandatory : No

The number of integers from 1 to 1000 which are divisible by 2 or 3 1s
2 O 3 @ rhotsed Doadjen 1 Aod. 1000 SRS Ay Gobra?

Options :
1 % 88
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2.v 67
5 % 58

4. % 47

Question Number : 18 Question Id : 5447341138 Display Question Number : Yes Is Question
Mandatory : No

There are 10 points on the line AB excluding 4 and B and 8 poimts on AC excluding 4 & C.

Number of triangles formed with these points not considering 4, B, C is

A,B, € Dodoinen A AB Sbako AC Saw 6% 10 208ako 8 DotiaHen &) av.
4,B,C 2 3, & DotoPod Ao\E gFowre o8

Options :

18 10
1. % CS CS
> % 360

5 v 640

4 % 280

Question Number : 19 Question Id : 5447341139 Display Question Number : Yes Is Question
Mandatory : No
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6’ +7x 463 A
(:x—l)(x+3](x2+1} x—l xt

+ Z 1andn—A-|-B+C+Dand C Crthenr:

61 +7x +6x-3 4 Cx+D _50
e o1 + 0o n=A+B+C+D, C C, o0 =

Options :
1. % 40

5 % 43
3 % 39

.

Question Number : 20 Question Id : 5447341140 Display Question Number : Yes Is Question
Mandatory : No

Sllli Sllliir 511’15—H Sll'lE =
16 16 16 16

Options :
V2
1.4 16

-t
(]
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Question Number : 21 Question Id : 5447341141 Display Question Number : Yes Is Question

Mandatory : No

If sinf + cscf = 2. then the value of sin'® 6 + cse!® g =

sin@ + cscf = 2 900 sint? 6 + cscl? @ =
Options:

1.¢ 2

2%;321[3

Question Number : 22 Question Id : 5447341142 Display Question Number : Yes Is Question
Mandatory : No

sin1®
Given — —— = cotx° — cot(x + 1)°. then the value of ————
sinx®sin(x+1)° sin45°sin 46°

1 1

R L. ST
sin46°sin47° sin89°sin 90°

sin 1° . 41 a0 s 1 1
= cotx® — cot{x + 1)° QuNRANE). — : s nm "
' o ~ sin45°sin46° sin46°sin47°

sinx®sin(x+1)°

DA NATINDE
sin 89°sin 90° =

Options :

1 % sinl®
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cot 1°

—cot 1°

4  COSec 1°

Question Number : 23 Question Id : 5447341143 Display Question Number : Yes Is Question

Mandatory : No

If Cos™*x = Sin 1(3x) thenx =
Cos ! x = Sin 1(3x) es00& x =

Options :

V10

0
0

<
[y

4. %

Question Number : 24 Question Id : 5447341144 Display Question Number : Yes Is Question

Mandatory : No
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If the angles 4, B, C of AABC are in arithmetic progression. then

Q02500 ABC &° A, B, C Stss00e0 90838 ¢5° &otd
Options :

1$¢,b2:a2—|—cz—ac
c2=b24+a%2—ab
a’? =b%+ c% — be

Question Number : 25 Question Id : 5447341145 Display Question Number : Yes Is Question
Mandatory : No
Ina AABC. cosec A (sin B .cos € + cos B .sin () equals to

ABC dzvass &° cosec A (sin B .cos C + cos B .sin () & DATI00E

Options :

C

1_33(1
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Question Number : 26 Question Id : 5447341146 Display Question Number : Yes Is Question
Mandatory : No

What 1s the greatest angle of the triangle whose sidesare x> +x + 1, 2x + 1, x2 - 17

xPHa+1, 20+ 1, 1 — 1 Zadwenr o Sz ri&a;q §53:0 dodh?

Options :

1 ¢ A =1 20°
5 % A = 90°
3 % A =135°
4 % A=060°

Question Number : 27 Question Id : 5447341147 Display Question Number : Yes Is Question
Mandatory : No

ABCDEF 15 a regular hexagon. The sum of the vectors BE, BC, EF, E{, CF, AF

—_— ) — — —

Options :
1 % BF

, x 2BF

3. %
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4_¢EBF

Question Number : 28 Question Id : 5447341148 Display Question Number : Yes Is Question
Mandatory : No

If ABCDEF 1s a regular hexagon with AB =@ and BC = b then CE equals

ABCDEF g208¢0y2¢" AB =@ 2o8csn BC = b eowd CE =

Options :

1. % b—a

2. % —b
L b —2a
L« @—2D

Question Number : 29 Question Id : 5447341149 Display Question Number : Yes Is Question
Mandatory : No

R divides the line joining two points P and Q whose position vectorsare i +2j — kand —i +
j + k respectively in the ratio 2 : 1 externally. § divides PQ intemally in the ratio 2 ¢ 1. Then the

position vector of the midpoint of the line joming R and S 15

P(1+2] - K),0(-T+ ] + k) Docoiposy 85 85w por) R Doctoid) 2 1 Mgy de”
EPIGRTRT, § Dodo) 2 ¢ 1 A3 eos0mar Daseny A0s[ RS Dokoi) FR 06 ___

Options :

1. %
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—5 _ 2 . 5JEC
2_¢3L+3j+3
D 2 5 ..
) Bl el
3 % 3 3 3
5 s 2 5I
4'333!-%3}-%3

Question Number : 30 Question Id : 5447341150 Display Question Number : Yes Is Question
Mandatory : No

If @ is a vector of magnitude 7. b is a vector of magnitude 8. then the maximum value of |E b | 15
T 0BAFBA0 7, b 20T 8 0ond [7.h | 46 dewd

Options :

o T
- 5 and (ﬂ.b)— z

28 and (H’b—) .
2. % 3

56 and (Fb—) —
3. %

ml:::]

4 56 and (?b_) — 3
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Question Number : 31 Question Id : 5447341151 Display Question Number : Yes Is Question
Mandatory : No

The number of vectors of unit length perpendicular fo the two vectors @ = (1,1,0) and b=(011)is

T =(1,1,0) 200080 b = (0,1,1) 28305 0ow0T Gl oardES 2630

Options :

Infinite

4 % e9odho

Question Number : 32 Question Id : 5447341152 Display Question Number : Yes Is Question
Mandatory : No

Ifthevectors @ = i — ] + 2k E) =21 44j+ kand? = A7 + j+ ;Jé are mutually
orthogonal then (4, i) is equal to

%0 T =1-) 42k, b =21+4) + k0w T =T + ] +pk asoaEed
VORDIT Gokia) 900N (4, 1) =

Options :
, % @-3)
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o % (-2,3)

4, % (3,-2)

Question Number : 33 Question Id : 5447341153 Display Question Number : Yes Is Question
Mandatory : No

Leta,b and ¢ be the three vectors. If [a | = L m =17.|c’| = 8 and the angle between @’

and IT isfanda X [E X E) —¢ =0.thencosf + cosec =

—

T, b, ¢ w680 [a]=1.[b] =17.¢] =8, T, bo e Emaw 6 080t
Tx(@xh)-T =0 e cosf +cosec § =
Options:

409

| v 136

e

419
126

409
126

Question Number : 34 Question Id : 5447341154 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021
fa=t27+e'j + kandb =27 +¢2] +logt kand f(t) =@ .D . then f'(1) =

a=t'i+etj+k, b=21+t2] +logt k 20ba0 f(t) =a .b wand f'(1) =

Options :
1 % 3 + 5e

> 5+ 3e

3 % 34 3e

4 % 4 4+ 3e

Question Number : 35 Question Id : 5447341155 Display Question Number : Yes Is Question
Mandatory : No

The arithinetic mean of the following discrete data 12, 14,20, 23, 25, 32 1s given by

12,14, 20,23, 25,32 093 GTro3000% Eﬂo&‘»;ﬁicﬁé&);ﬁw Jogh?

Options :
1 % 22

, % 21.75
21

3. %

4 % 205

Question Number : 36 Question Id : 5447341156 Display Question Number : Yes Is Question
AP EAPCET 2021
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Mandatory : No

A box contains n comns. m of which are fair and the rest are biased. When a biased coin 1s
tossed. the probability of getting a head 1s twice as likely as tail. A comn is drawn from the box
at random and 1s tossed twice. It 1s found that first time 1t shows head and the second time it

shows tail. Then the probability that the coin drawn 1s fair is

28 DS’ n TERD Gotron. m L) G, WHYDD DEFBed’ Gotran. e
o JOBDRYE &7 %) I8 55"F0 &R St Both) DL ALY, w8 Tto D Ao
o‘.iJ"d&DaSori" & 93008 8050 Botd FE NI, BB 2EOTE & m;}m,
aociaﬁﬂ“ﬁ 5" R0 tFRI0B. BN THo AGNG BHENS Voar[d?

Options :

im

% on+m

9m

> 8n+m

7
Bm+n

9m
8min

4. %

Question Number : 37 Question Id : 5447341157 Display Question Number : Yes Is Question
Mandatory : No

. | 2 .
If A and B be independent events with P(4) = T and P(B) = = then the value of P(4/BC) is

.1 x B
A 20600 B 3 808 b P(4) =— dbab P(B) = — 6ond P(A/BL) Dewsd dodh?

Options:
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Question Number : 38 Question Id : 5447341158 Display Question Number : Yes Is Question

Mandatory : No

A man 1s known to speak truth 7 out of 10 times. After throwing a die with 100 faces marked

B T— ,100 on it’s faces. the man reports that he got a prime number on the die. What is
the probability that it 1s actually a prime?

28 38 10 Frg8" 7 260 Qo By VT GoBd. BB 100 20gren Y 28 W
(Swarep 1,2,3, ... ..., 100 R0 ea"lcm} 8ot SR HER R0 aal)oa 99
QDB OB QAT P 08 THer8 RoPad

Options :
5

w16

11

5 % 16
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10
4 % 16

Question Number : 39 Question Id : 5447341159 Display Question Number : Yes Is Question
Mandatory : No

44 X
Let X be a random variable with probability distribution function, P(X = x) = K (%) 3=
1,2,3,..... Then value of K 13

X
X 03 atreyy¢ o ds o derad shabaw, . PX =x) =K (3] .x =
1,23, ... 0008, K Qo0 dodh?

Question Number : 40 Question Id : 5447341160 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



For a binomial distribution B(n, p) mean = 200. standard deviation = 10. then n® + =

AP EAPCET 2021

p

1
_2=

q

: 1 1
B(n,p) A QRT3 wosmcsém:m 200 Fards dsodan 10 sond n? + F + E =

Options :

. % 160,004

, % 1,60,006

3 @ 1,60,008

4 » 160,002

Question Number : 41 Question Id : 5447341161 Display Question Number

Mandatory : No

A straight rod of length 4 units slides such that its ends *4" and ‘B” always lie on the x and y

axes respectively. Then the locus of the centroid of AOAB 15

4 ool Ty o 28 5§ T Waden 4, B e DUREP ST 1, ¥ BT

o8008, 0AB Jzbasn 608, Sosaride DoddEan

Options:

2 -
1w X +y =4
2 2
5 % X +yc=3

9
xZ +y%=—
3.33 16

AP EAPCET 2021
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Question Number : 42 Question Id : 5447341162 Display Question Number : Yes Is Question
Mandatory : No

Find the transformed equation of the curve x* + 23xy — y* = 8 when the axes are rotated

T
through an angle r

@Ew% €0 om0 BR%\E 1 + 2431y — )7 = 8 g, GPFeds HDoEdmA
BR0Y)A0.

Options :

x2 +vy%2+2/3xy =8

1. %

5 % x%+y2 —2v3xy =8

3 % x2 —y2 4 2\3xy =8

4 x2 —y2 —243xy =38

Question Number : 43 Question Id : 5447341163 Display Question Number : Yes Is Question
Mandatory : No

If the line px — gy = r intersects the coordinate axes at (a,0) and (0, b) then the value of

(a+b)isequal to
px —qy = 1 R06¢ 5 ezl (a,0) 2dasw (0,) © 36 Mot (a +D)

Options:

AP EAPCET 2021
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r(g+p)
pq

r(q—p)
2.v P

r(p—q)

r(p—q)
4. ® p+q

Question Number : 44 Question Id : 5447341164 Display Question Number : Yes Is Question
Mandatory : No

If a pair of Iines drawn through the origin forms an 1sosceles right-angled triangle with the lne
2x + 3y = 6. then those lines are

Qorefoda) ot Jar. 2x + 3y = 6 AO¥0DSE w8 Vowln RNAEPITV SR
26,81 Bothy OBV HedICTTR

Options :

1.\?,):—5}':0, x4+ vy =40

5 % Ie=y=080, CF3yr=8

3 % bt —y=0, x 55y =0

4 % E—3p=8, 3x+y=0
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Question Number : 45 Question Id : 5447341165 Display Question Number : Yes Is Question
Mandatory : No

The number of lines that can be drawn through the point (4, —5) at a distance of 10 units from
the point (1,3) is
(1,3) Dotdsd) Aot 10 aordl) BrdodS” Gobd, (4,—5) Dotdda) ot Q:J.l Gaen ﬁoiabxﬁ)a?

Options :

1.% 1

4, %

Question Number : 46 Question Id : 5447341166 Display Question Number : Yes Is Question
Mandatory : No

If a pomnt ‘P’ on the line 3x + 5y = 15 1s equidistant from the coordinate axes. then P lies

3x 45y =15 820 ‘P’ Do) AEPISTR Aok DR Grdots’ &od. e9and. P
E0CIA.

Options:

Only in the first quadrant
L D0 TR 505° ArS0

Either in first or in second quadrant
L v DV Fo@ Dokid s’

3. %
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Either 1n first or in third quadrant
20068 T Harcd 0w’

Only in the third quadrant

n BOPED FGH0S” ArGa

Question Number : 47 Question Id : 5447341167 Display Question Number : Yes Is Question
Mandatory : No

Find the length of the intercept cut by the pair of lines 2x? + 4xy — 4y? —6x =8y +7 =0
over the y-axis.

2t + 4y — 4yt —6x—8y+7=0 RG¥G o] S0 -52009 B0 BodGaot

Fed NI

Options :

% V12

Question Number : 48 Question Id : 5447341168 Display Question Number : Yes Is Question
Mandatory : No
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If the lines x® + 2xy — 35y% — 4x + 44y — 12 = 0 and 5x + Ay — 8 = 0 are concurrent then
A equals

R0FBR 1° + 2xy — 35y7 — 4x + 44y — 12 = 0 208080 5x + Ay — 8 = 0 wdvgen
o0& 1 aed

Options :

1.% 0

Question Number : 49 Question Id : 5447341169 Display Question Number : Yes Is Question
Mandatory : No

If the equation 2x2 + kxy — 6y2 + 3x + y+ 1 = 0. (k > 0) represents a pair of straight
lines. then their pomt of mnfersection 1s

2%+ kay — 6y 4 3x 4y + 1= 0. (k > 0) 208000 28 H6¥ Graormy ) Ardy. ¢
00 Dotid Do)

Options :

(5 %)

| % \8'8
(&%)

« 8 '8

2.
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Question Number : 50 Question Id : 5447341170 Display Question Number : Yes Is Question
Mandatory : No

If one of the lines given by the equation 2x + axy + 3y = 0 coincide with one of those given

by the equation 2x% + bxy — 3y? = 0. while the other two lines are perpendicular to each other,
then the values of @ and b are

202 + axy + 352 = 0 HE60a0 Ardod 2EvepuE’ 28 62, 212 + by —3y2 =0
2E6RAD AP DEVEVOS” 2. S DEVod), ADD Boc Baren wEmIELE

D080l &) 0o, 4, b © IV

Options:
1.2 a=-—2 & b =13

s a=—4 & b=-1

2_%-5
Lk a=4&b=1
4#/11:—5&11:—1

Question Number : 51 Question Id : 5447341171 Display Question Number : Yes Is Question
Mandatory : No
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The circumcentre of the triangle formed by the poimts 4 (1 . \.@- B (—l : —\-@] and (3 , —-\@)

Is

A(1,33). B(—1,-v3) &8s (3,-V3) Dociogyeu D603 Gz ding)
5B, 38ogaw

Options :

1w (1,-V3)

Question Number : 52 Question Id : 5447341172 Display Question Number : Yes Is Question
Mandatory : No

The equation of a circle with center at (—2,3) and circumference of 47 units is

(~2,3) So@AnTrar. thin§od 4T Pl AT (10 )8 PSERIY

Options :

L x Xy Hax—6y—-9=0

, ¢ X +y*+4x—6y+9=0
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X+ y?P—4x+6y—9=0

Question Number : 53 Question Id : 5447341173 Display Question Number : Yes Is Question
Mandatory : No

If a circle of a constant radius 6 passes through origin 0 and meets the coordinate axes at A and

B. then find the locus of the centroid of triangle 0AB.

;Egcﬁ D"ﬁﬂ“géﬁ 6 (L w8 HBdw duredetdsy) 0 Moks Jar, AdrosTod 4 Hdosw B
Do :’Q D06, 0AB S22y Soiaradw olnsb ATVl
Options :

1 % _1{2_5_}12:4

3 ¢ X2 +yr=16

Question Number : 54 Question Id : 5447341174 Display Question Number : Yes Is Question
Mandatory : No

If the point (4,1 + 4) lies inside the circle x%2 + y% = 1. then
2yt =1 3508 (1,1 + 1) @906 Docidad) 900d, e

Options :
A=0

1. %
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Mandatory : No

AP EAPCET 2021

: 5447341175 Display Question Number : Yes Is Question

The perpendicular distance from the point (1, 2) to common chord of the circles x% + y2 —
2c+4y—4=0and X +y* +4x—6y-3=0is units.

(1,2) Doty 000 x? +y2 —2x +4y—4 =0 28aw x> +y2 +4x— 6y -3 =0

TV &) 7 S VorErEaN

Options :
13
V12

(¥ N]

=
L

]

=
[ #h
o

<
[y
(%)
b2

Question Number : 56 Question Id

Mandatory : No

AN

: 5447341176 Display Question Number : Yes Is Question
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ES=x"+y*+ 2+ 17y +4=0.5"=x"+y* + Tx+6y+11=0ad§" = x* +
y2 —x + 22y + 3 = 0 are three circles. then the length of tangent from their radical center to

S=01s units

S=x*+y +2r+17y+4=0,8"=x"+y* + Tx+ 6y + 11 =0 208at0 §" = x* +
yE =1+ 22y +3 =0 03 Surd Sz Sure Sogo 56 {0l § = 0 5578 A
R0 8 T SV VRIN

Options :

1% V53

2.v V57

4 % V17

Question Number : 57 Question Id : 5447341177 Display Question Number : Yes Is Question
Mandatory : No

If (2,0) is the vertex and y-axis is the directrix of a parabola. then its focus is

(2,0)d %g;‘.mrr 00030 y-8FR) AADSTIMT (0 HTSVEHAN s), T8

Options :
1. % (2,0)

A (_2 ' 0)

2.
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4w (0,9)

Question Number : 58 Question Id : 5447341178 Display Question Number : Yes Is Question
Mandatory : No

If the lines 2x — y + 3 = 0 and 4x 4 ky + 3 = 0 are conjugate with respect to the ellipse
5x% + 6y — 15 = 0, then k" equals

5% + 6% — 15 = 0 B¢Sy85m aagvé 2x —y +3 =0 H080dw 4x + ky + 3 = 0 Gaew
Roator) Saen o, e

Options :

1.% 1

Question Number : 59 Question Id : 5447341179 Display Question Number : Yes Is Question
Mandatory : No

The equation of hyperbola whose eccentricity is P and distance between the foci 1s 10 umits 1s:

i)
g 68),089 Ddotn 10 alre Terjoddo (i ©SHT"H0AD HeEBEAD:!

Options :

|« lex® —9y® =16
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, 16x2 -9y =9
16x2 — 9y%2 = —144

16x? —9y? = 144

Question Number : 60 Question Id : 5447341180 Display Question Number : Yes Is Question

Mandatory : No

If the orthocenter and circumcenter of a triangle respectively are (3, —4,2) and (2,1,3).

then its centroid 1s

€ Qe vonBogan B0k HBIS Sogren S (3,—4,2) oo (2,1,3)
Dot 206 &) oS, TR So@arRaN D6 Gt

Options :

(—?5—4)
2 g g

w |~ w |~
| & o | 4
mlvlL w |-
—— i SR

-c.¢|--q
|I
b
u.:|m
Mt

Question Number : 61 Question Id : 5447341181 Display Question Number : Yes Is Question
Mandatory : No
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; ; 4 , , 1. =3 ¥
If the direction cosines of a straight line are (? s :) .then e =

1 EE (s |
w8 VOV B &S S (— ,— ,—) 0. ¢ =

c & c

Options :
1. % + *".HE

2.v TV3

Question Number : 62 Question Id : 5447341182 Display Question Number : Yes Is Question
Mandatory : No

A line AB in three dimensions makes angles 45° and 120° with the positive x-axis and the
positive y-axis respectively. If AB makes an acute angle & with the positive z-axis, then 6

equals

28 VOV8D AB SIS x. y-oTud HERM 45° Bk 120° Erren 82, ST S z-
g8 AB Bosw esvﬁea:m

Options :
1 % 30°
2. F 45E

3.v 60
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Question Number : 63 Question Id : 5447341183 Display Question Number : Yes Is Question

Mandatory : No

; X ¥ o F B T i
A variable plane —+ E + —= 1, which is at a unit distance from the origin cuts the
a c

: , - R 1 1
coordinate axes at A, B and C. If the centroid (x,y,z) of AABC satisfies—< +— +—= =k,
= ¥ 3z

then °k’ equals

APDotd) Aod) 1 TP Ardaw £DAD % ¥ %+ %: 1 600l 28 50 S0AY
rosT0d 30608 4. B © 36 € pocodin . ABC 32 Sedrdin (x,7,2)

1 1
7+ =3+ ==k doHArD) Rodd00d. K dewd

Question Number : 64 Question Id : 5447341184 Display Question Number : Yes Is Question

Mandatory : No

If [.] denotes the Greatest integer function. then f (x) = [x]* - [x*] is discontinuous at
[.] 668 o8 HoatrRy wrdd, £(x) = (1] — [17] g D) dw?
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Options :
All integers

©) PT°0S Dewdew

All integers except 0 and 1
0 0805 1 &0y 8 JPTes Jenden

All integers except 1
1 &0y 0y JForos a0

All integers except 0

0 &y ©Jy T oS VDN
4, ®

Question Number : 65 Question Id : 5447341185 Display Question Number : Yes Is Question
Mandatory : No

" s JE=CosT ay d.zy .
Ify =Tan ! . then the values of — and — respectively are
! + cosx dx dx?
s H=tosx dy dzy
y = Tan™? eood, —— 800 — © Jenden ST
‘ 4/ 1+cosx dx dx?
Options :
1. 1.0
X 1
) % 2 2
1
o
3. 2
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Question Number : 66 Question Id : 5447341186 Display Question Number : Yes Is Question
Mandatory : No

x)ﬁnx

: d
If y= (tan . then o N
' dx

- dy
y = (tanx)>"" eso0d. — =
dx

Options :
| (tan x)™* {sec x + (cos x) (log(tan x))}

. (sin x)™™* {secx + (cos x)(log(tanx))}

- (tan x)S™ {secx — (cos x) (log(tanx))}

I}tanx

4 % (sin {secx — (cos x)(log(tan x))}

Question Number : 67 Question Id : 5447341187 Display Question Number : Yes Is Question
Mandatory : No

acosx —bsinx dy
If y=Cos™?! .then — =
vyaz + b? dx
acosx—bsinx dz}r
y = Cos™ 1 { } eond. — =
Ja? + b? dx

Options :
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1 % a—b
z_ﬁa-l—b
3.“1
4.@*’0

Question Number : 68 Question Id : 5447341188 Display Question Number : Yes Is Question
Mandatory : No

g K 1 ; 1
The derivative of Sec ™ ( o ) with respect to V1-—x%atx= "y equals

X —i::cs V1 —x% &yar Sec_l(;) 99E0R3
Y 0% § °F 9x2 — e

Options :
2

1. %

Question Number : 69 Question Id : 5447341189 Display Question Number : Yes Is Question
Mandatory : No
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For the function f(x) = x3 —6x? —12x — 3. x =21isa

fO)=x—6x*—12x — 3 Hdocrdd x = 2 ue

Options :
point of maxima
gles] Do)

point of minuma
2% Do

point of inflection
50 Do)

not a critical point
NElale Doddod s°cd

Question Number : 70 Question Id : 5447341190 Display Question Number : Yes Is Question
Mandatory : No

The value of ‘c’. of the Lagrange’s mean value theorem. for f(x) = va? —x , x €[1,4] is

flx) =vxt—x , x €[1,4] H20r8 drrod ey i)tg"oejm@“ ‘o Devd

Options:
4
1.% 3

3
2@ &
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Question Number : 71 Question Id : 5447341191 Display Question Number : Yes Is Question
Mandatory : No

For the curve y = 5x — 2x®. if ‘x” increases at the rate of 2 units/sec. the rate of change in the
slope of the curve at x = 3 13 sec

V=50 =20 35708 ‘x7 §°Q DAMEL B S0 2 oAk wowd, x =3 36 ¢
DA AWS), SIVIN Sy Gew R

Options :
1. % 72
5 % 27

4. % —27

Question Number : 72 Question Id : 5447341192 Display Question Number : Yes Is Question
Mandatory : No
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If the relation p(subnormal length) = q(subtangent length)? holds true for the curve by? =

(x + a)®. then the value of L
q

by? = (x + a)* 38w p(&dwonda TE) = q(&006\50 fj“c.‘.;:)_))z o AaHArD

s bl
DoBy 08D, —= 0
q

Options :

8

3 % 27b

Question Number : 73 Question Id : 5447341193 Display Question Number : Yes Is Question
Mandatory : No

2

The point on the curve x2 + y2 = a?, y = 0. at which the tangent is parallel to the x-axis, is

4yt =dd y 20 3598 A2 s 916,09 x-S DATedbor eoll. T 00,
Do)

Options :
1. F {ﬁ r 0)

2. ® {_ﬁ ' U)
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v (0,0

. (0,—a)

Question Number : 74 Question Id : 5447341194 Display Question Number : Yes Is Question
Mandatory : No

J 3%(f'(x) + F(x) log3) dx =
Options :

L T e

5 % 3*log3 + ¢

3¢ 3 flx)+c

4% 3 +c

Question Number : 75 Question Id : 5447341195 Display Question Number : Yes Is Question
Mandatory : No

" x4+ sinx
J 1+ cosx

Options :

x
x cot 2 S
1. =
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()
2 A el T O
2. % 2
(:{)
tan| — )4+ c
3. % 2
x
x tan ? +c
4. <

Question Number : 76 Question Id : 5447341196 Display Question Number : Yes Is Question
Mandatory : No

Jcosx —2sinx
‘|

4sinx+5cosx

dx = Alog|5cosx + 4sinx| + Bx + ¢, then 4 and B are

J Jcosxy—2sinx

_ dx = Alog [5cosx +4sinx| + Bx 4+ ¢ ©0nd, 4, B Juoden
4sinx + 5cosx

Options :
22 =7
A:— i,
1 % 41 41
gD 7
A=—& B=—
> % 41 41
— 22 —7
A=—& B=——
3 % 41 41
22 7
A=— & B=—
4. 41 41
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Question Number : 77 Question Id : 5447341197 Display Question Number : Yes Is Question
Mandatory : No

g==]
| e—oe— % -

Options :

2log|x — 3|+ log|x — 2|+ ¢

1. %

. log |lx — 3] —log|lx — 2] +¢

log|x —3|* —log|x+ 2| +¢

(x —3)°

x—2

log +:€

4. &

Question Number : 78 Question Id : 5447341198 Display Question Number : Yes Is Question
Mandatory : No
m/d
J X tan(l + ,1;2) =
—7 4
Options :

1.0

T
2. % 4

3. % 4
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Question Number : 79 Question Id : 5447341199 Display Question Number : Yes Is Question
Mandatory : No

T
Hi= ’ ¥ {sin2 (sinx) + msz(}cos.f)} dx ,then[I] = Here[.] denotes G.I.F

0
bis
= J X {sinz(sinx] + cos*(cos x}}d.\' ead, [I]=__ ,[.] (103 JPT08 DA
0

Options :

1.“3

Question Number : 80 Question Id : 5447341200 Display Question Number : Yes Is Question
Mandatory : No
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The equation of a curve passing through the point (0, 1). given that the slope of the tangent to
the curve at any pomt (x, ) 15 equal to the sum of the x-coordinate. and the product of x and

y coordinates at that point, 1s

28 3550 (0, 1) Docko) oot T'brdy 8. S8ty &8 350 & T ockod) (x,y)
20 Ao "fo;)dgéaa T & Dotd) IS, ¥-AETDEAN B 1. y-AErI5Y VLY
205723 Hr:0 Sobjubod. & 3§ HE0mHA

Options :
s ()
% Y= I—de
v=—1+2 e{xz’m]
2. °
y=—1-—2 e{xzm
3. % 7
2
oy = 1+2e{x )
4, % -
Physics
Section Id : 54473423
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:
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Question Number : 81 Question Id : 5447341201 Display Question Number : Yes Is Question
Mandatory : No

Generation, propagation and detection of electromagnetic waves 15 the basis of

Dmécﬁob&bo@ 360 &3, DFGo 200N feTotiit) 93 & S0 TS’ BAS BT g’

Options :
LASERS
G2

1. %

Reactors

. BOSTESD
2. ® T

Radio and television

3 @ Badr & 99da2d

Computer
. Scf.g_'}vﬁe:}ﬁ

Question Number : 82 Question Id : 5447341202 Display Question Number : Yes Is Question
Mandatory : No

Zero error belongs to the category of:

B B9800 0998 2 DePHANIL BodIS?

Options:
Constant errors

?gd E3 83550

1. %
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Instruumental errors

L v Frairfg S8

Personal errors
- S(8cich EEa0

Random errors
, OOTEBS &40

Question Number : 83 Question Id : 5447341203 Display Question Number : Yes Is Question
Mandatory : No

The slope of velocity — time graph for motion with uniform velocity 1s equal to:
2508 Draw DA BLAING” SAAN-FVIW TD T VAT I&?

Options :

Initial velocity

S dridw

Final velocity
S8 D

Zero

waém
3.¢

Constant velocity

G D5
4 % @
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Question Number : 84 Question Id : 5447341204 Display Question Number : Yes Is Question
Mandatory : No

If the equation of motion of a projectile 1s given by y = 12x — 3 x% and its horizontal

component of velocity is 3 m. s, then find its range. (g = 10 m.s %)

3
28 8 0 08 ooty y = 121 - — 17 0 $0 Hrodd Smobitn
3m.s™, DED SWYP TR dod? g =10m.57

Options :
1 % 124m

> 21.6m

3 x 30.6m

4. % 36.0m

Question Number : 85 Question Id : 5447341205 Display Question Number : Yes Is Question
Mandatory : No

A force—time (F —t) graph for a linear motion 1s shown i

. . . &€
following figure. The segments shown are circular. The linear +2
. . +14
momentum gained between 0 and 8 seconds 1s: ]

S ETTLN)
D06 Bo% S8 TNE, HVAY-TVK 5 :; /
Arond:6. 0 300050 8 8w 30dy Todd Bdab 63
340 dodt?
Options :
1% —2m N.s
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2.«'/0 N.s
3 % T4m N.s

4 % TOm N.s

Question Number : 86 Question Id : 5447341206 Display Question Number : Yes Is Question
Mandatory : No

A body of mass 2 kg 1s acted upon by two forces each of magnitude 1 N, making an angle of 60°

with each other. The net acceleration of the body (in m.s™2) is:

LN 8i7aio0in (10 Bocd eren, w8 A8 20688 60° St S 2 kg g3 o
SRR 9 DR 2. & B0 dweg), DS BB (m.s T 0d’) dods?

Options :
1 % 0.5

~ |G

Question Number : 87 Question Id : 5447341207 Display Question Number : Yes Is Question
Mandatory : No
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A bullet of mass m 1s fired from a rifle of mass M. If v’ be the velocity of the bullet, velocity

acquired by the rifle is;

M g3 o 0e08) AoG: 11 G303 o wge DO\EAE. G dg) D 7 e9ond,
058 Todd S6AW

Options :
— _M_,
Y= v
1. % i
= —E,_
e
2. ¢ M
L V=47

Question Number : 88 Question Id : 5447341208 Display Question Number : Yes Is Question

Mandatory : No

In perfectly inelastic collisions. the relative velocity of the bodies:
ESE) e aigag’:}s DHTBAD°, SRV FDE AW

Options:
before impact is zero

. 29T EA00NE) S0 %mézg;ﬁ:.;
1.

before impact is equal to that after impact
5 % 9T S0 LD BDNTGAL BT LLVHE) AT

3.¢¥
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after impact 15 zero
92T e SHCOTEd %c“:\‘aé;fm

is characterized by none of the above

| o DD DDBSTD

Question Number : 89 Question Id : 5447341209 Display Question Number : Yes Is Question
Mandatory : No

A shell of mass ‘m’. moving with velocity ‘v" suddenly breaks into two pieces. If one of those

parts having mass m/6 remains stationary. find the velocity of the other part,

m S0 $DAS 2.8 B8 oty v A0S S00eR) 2yt B0ty 3008 Lo e aob.
&S m/6 83 $DAR S, v V8" &), Bol 3008, AE) i

Options :
bv

1.4 B

> % 2V

Question Number : 90 Question Id : 5447341210 Display Question Number : Yes Is Question
Mandatory : No
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The distance between the carbon atom and the oxygen atom in a carbon monoxide molecule 1s

1.1 A. Given. mass of carbon atom 15 12 a.m. u and mass of oxygen atom 1s 16 a. m.u.

Calculate the position of the centre of mass of the carbon monoxide molecule.

5'*%5 TEG eSS’ 5"635 DOATEDY) obatn Uéﬁ.‘i DLV 6] AT
114. E“GQS DOATEY) AE), 9;550“% 12a.m.u, uér)z?sb DOATEV) A0S, Q;ﬁ&w%‘
l6a.mu. s*dafs UTT - VDY) AITE), @;550“@ S0l ga;‘m (iedosean.

Options :
6.3 A from the Carbon atom
6D DOATERD Aol 6.3 A

1.0 A from the Oxygen atom
3318 DOATENY) Hod 1.0 A

0.63 A from the Carbon atom

- E“dg& DO Aoc. 0.63 A

0.12 A from the Oxygen atom
58130 DOATENY Hooc. 0.12 A

Question Number : 91 Question Id : 5447341211 Display Question Number : Yes Is Question
Mandatory : No

A circular disc 1s to be made by using equal masses of aluminium and iron. To get maximum

moment of inertia, about 1ts geometrical axis. it should be prepared in a way that

8 HTTE DTN VAT IO (10 BRI HBakn RR0ANE Bobadds.
= a?Sﬂ)@oiJ ©0 Mol B RS PRSIV ToL) B JGST GrA ST
B0DST?
Options :
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Aluminium 1s at the interior and the wwron surrounding it
9 0DHD S7He Aot VI &7 Wt

Iron 1s at the interior and the aluminium surrounding 1t
RROD SV HBAIL BLFELICDIN T° W

Aluminium and iron are used in alternate layers
ww&i}ai}cman 08030 BRI Q@”}Sarioéo TGO T T 6

Aluminium and iron discs should be kept one above the other

4w Rr{2ADAD 20BAIN RWD DYV 28 &7 P FED BCFE

Question Number : 92 Question Id : 5447341212 Display Question Number : Yes Is Question
Mandatory : No

The moment of inertia of a body about a certain axis is 1.2 kg. m®. Initially. the body is at rest,

In order to produce rotational kinetic energy of 1800 I, an angular acceleration of 30 rad.s™
must be applied about the given axis for a duration of seconds.

YD OLAD V00T 28 SRVY 2GS PRSI 1.2 kg.m”. 2B i Myw DO
&od. 30 rad.s ™" Eeiad S(omand $BAGod, 1800 T F:om (O¥8D &S Batbrdd e
BES TV SOI[H0 SERN

Options :
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V3
10

&

Question Number : 93 Question Id : 5447341213 Display Question Number : Yes Is Question
Mandatory : No

A simple pendulum. suspended from the ceiling of a lift. has a period of oscillation T, when the lift is at

rest, If the lift starts moving upwards with an acceleration a = 3g. then the new period will be

28 0H0S VLA, ng 2 2riian Aol Juddabnd, 853 A ?g@eﬁ‘ &)@ T Eomraod o
¢Bhain) 6. 8D ed, 636" a = 3g Srdmand sAdINNE, By §8 EvTagd TR dod?
& q:é ™ pr it

Options :
1 % 2T

Question Number : 94 Question Id : 5447341214 Display Question Number : Yes Is Question
Mandatory : No
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A body of mass 4.9 kg hangs from a spring and oscillates with a period 0.5 s. On the removal of

the body. the spring is shortened by (Take g = 10 m.s?%, w2 = 10)

49 kg g5(0°3 o 5109 w8 ofi Mot Jercdabrc, 0.5 s LR EvTw
SAH0ED) 8. 50900 FONY, Aol Te Jodd BA0B? (g = 10m.s7, 1% = 10)

Options :
1. % 6.3m

> % 0.63m
3 6.25 em

4 % 63 cm

Question Number : 95 Question Id : 5447341215 Display Question Number : Yes Is Question
Mandatory : No

If ‘R’ 1s the radius of orbit of a satellite, then the kinetic energy of the satellite 1s

e cotr SlbduR) w8 S8 G ST 353“2.‘.113 R 00nd & e, (1835
B8 908" T8’ Gotorn?

Options :

1
K—
R
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Question Number : 96 Question Id : 5447341216 Display Question Number : Yes Is Question
Mandatory : No

If ‘A’ 1s the areal velocity of a planet of mass ‘M. its angular momentum is:
‘M’ @;ﬁ}gw%' fe (P08 STV A0 ‘A’ wond o Sriab ok 200 Jodh?

Options :
M

1.@'""5"{!L

v ZMA

« APM

« AM?

Question Number : 97 Question Id : 5447341217 Display Question Number : Yes Is Question
Mandatory : No
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Find the Young’s modulus of the wire whose stress-strain curve 1s as shown m the following figure:

& Sobd DG DBUV-IED T2 Aok éﬁcﬁné& adof 650 dod?

Stress (g&3esero)

(x> 107 N.m %)
.

LY

A MR R
02 4 6 8 10 12 simin (D40)
(x 107%)

Options :

| % 8 x 1011 N.m™2

, % 24%x 10" N.m™

o % 10x10% N.m™2

11 -2
4 2xX10 N.m

Question Number : 98 Question Id : 5447341218 Display Question Number : Yes Is Question
Mandatory : No

A solid float such that its (1/3)"® part is above water surface. Then, the density of solid s
1
28 0 :wg;m ) G003V ; 3 2w dendr a:.\lggoné, &2 0% :Jc:“g Fold

Options :
1 % 744 kg.m™3
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910 kg.m™3

Question Number : 99 Question Id : 5447341219 Display Question Number : Yes Is Question
Mandatory : No

A wooden block floating in a bucket of water has (4/5 )™ of its volume submerged. When
certain amount of an o1l is poured in to the bucket, it is found that the block is just under the o1l
surface. with half of 1ts volume under water and the other half in oil. The density of o1l used,

relattve to that of water 1s

w8 WBHE° &) DS us DY) B0 S0 B (4/5) 3 Sty HOS® 20308,
wsg §od D00 SDAD AP 33, DY) B, §ob ¥ o DS, 2 DAY
AFRG"Ar 639) 6. wod JE" TByB\G AP g Fogd dod?

Options :
1

1. % *
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Question Number : 100 Question Id : 5447341220 Display Question Number : Yes Is Question
Mandatory : No

When a meter rod made of silver at 0 °C is heated to 100 °C. its length mcreased by 0.19 em.

Then find the coefticient of volume expansion of the silver.

0°C ¢ &) 8 Dotrdd Dol sé 100°C & S¢. SoDerids. By & dwe) TEHE'D
200w 0.19 em. ©9a0ad Dol sé SWVETIRS VAL Ve J“]SS £ S Joth?

Options :

. % 0.63x107% °C™

, % L9%x1075 °c*

—5 gp—1
3 @ h.7 x 10 C

4 % 161x107° °c™*

Question Number : 101 Question Id : 5447341221 Display Question Number : Yes Is Question
Mandatory : No

Newton's law of cooling holds good provided the temperature difference between body and

surrounding is
S0 30805 28900 306 T8 Bso o ol AP T8 MHZID oB?

Options :
very large
T 8D
-
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Large
Q8 S

Small

3 ¥ S5

very small
e S8 D

4, %

Question Number : 102 Question Id : 5447341222 Display Question Number : Yes Is Question
Mandatory : No

When the ideal gas is compressed isothermally. then its pressure
28 860, TRV VAT HIOHS” Voo BB, T DERIW

Options :

Increases
1 & Paloblgbwh)

Decreases
ejga.::.;

remains the same
90 LG0T S0t

first increases and then decreases
220656 DOH S e:agsm

Question Number : 103 Question Id : 5447341223 Display Question Number : Yes Is Question
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Mandatory : No

Which of the following is the best container for a gas during adiabatic process?

fodi e

808 TS TranY VY HEADD Dol TS I

Options :

Glass vessel
T IS

Copper vessel
o°f

Wood vessel
3E), TS

Thermos tlask

8D I

Question Number : 104 Question Id : 5447341224 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Column-I Column-II
) T
(a) Ratio of AQ/AU 1n an isobaric process (1) :
(T,-T2)
; ; . ; Ty
(b) Ratio of AQ/AW in an i1sobaric process (11)
(T,-T2)
G o ; ¥
(¢) Coefticient of performance of a refrigerator (1) F
(d) Coefficient of performance of a heat pump (v) y
Sob TR 2 HOI0G.?
-1 odoR-11
2) 28 D3DED DIAHS’ AQ/AU Bg) IS ot
(a) 2S Q/ J; A8 (i) o
(b) w8 DBDED DS AQ/AU ag), AL (ii) T TZT )
1712
(©) $3Be6m ofvogian aing), Sosrios Hmgan i) =
y-
(d) w8 68 Do) GAE) HIBE RS G ¥
Options :

| (a—iv),(b—iii),(c—1ii),(d—1)
, x (a—ii),(b—i),(c—iv),(d—iii)
3 % (a—iii),(b—1i),(c—ii),(d—iv)

. x (a—iv),(b—ii),(c—iii),(d—1i)
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Question Number : 105 Question Id : 5447341225 Display Question Number : Yes Is Question
Mandatory : No

Two identical sinusoidal waves each of amplitude 10 mm. with a phase difference of 90° are

travelling with the same direction in a string. The amplitude of the resultant wave is

25198 10 mm S0 2803 ¢9A, 90° 5w8cto $BAY Dot FAPDY DS Bdoridwe w8
& 28 B36° Hasreiumron. wand HDB 8o S0 HBNA od?

Options :

1 % o mm

- 10v2 mm

3 % 5\/‘5 mm

4 % 20 mm

Question Number : 106 Question Id : 5447341226 Display Question Number : Yes Is Question
Mandatory : No

The focal length of a convex lens 1s *f". An object 1s placed at a distance ‘x” from its first focal

point, The ratio of the size of the real image to that of the object 1s

8 S0PE6 SUEAD AIE) THS T ANGB TP Do®diy) Mol X’ APCANS' 18
3RO o6, A HO Dowdn HBSrErIS, S0 2BrErdS o Mayd

Options :
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Question Number : 107 Question Id : 5447341227 Display Question Number : Yes Is Question
Mandatory : No

An 100 eV electron 1s fired directly towards a large metal plate having surface charge density
—2 X 107%m™2. The distance from where the electron be projected so that it just fails to
strike the plate 15

25 100 eV Jugaomd SR\ ™ 553 doFodd —2 X 10 %em™ do a6 S Hvs DY
DOT. Qvg"cﬁ)r‘é} Dodd oA Aok D08 HEA BEE R’ DIVABG?

Options:

1 % 0.22mm

> 0.44 mm

3 % 0.66 mm

4 % 0.88 mm

Question Number : 108 Question Id : 5447341228 Display Question Number : Yes Is Question
Mandatory : No
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What 1s the direction of the lines of force at any point on the equipotential surface?

R 35) &DBIVID BT Do) 26 Wy s, &% &0 S

Options:

Parallel to 1t
1 % EsPabal-TaleFabh]

Normal to it

5> & BT A T b6

Be mclined
Eodd To008 Gotdd

Random direction
DE 208 B

Question Number : 109 Question Id : 5447341229 Display Question Number : Yes Is Question
Mandatory : No

A unit positive charge has to be brought from finity to a midpoint between two charges 20 pC

and 10 puC separated by a distance of 50 m. How much work will be required?

50 m cirosos’ S Do 20 4C Sobaty 10 uC s3To 6| Do) S6% 28 Harn
BT ©dod Ar6A0 Mok GRE TPIEr8 oD SUNd B

Options :

\ x 10.8x10%7

: 3
, v 108X 10%7

5 x 1.08x10°7
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4 % 0.54X10°7

Question Number : 110 Question Id : 5447341230 Display Question Number : Yes Is Question
Mandatory : No

At B3

Current through the branch BD. in the given

cireuit 18

B
157 T 530 T30V

DhotS” trod SVaLAE’ BD Grio el

3@5@ Dodh? I

Options:
1 % 6.6 A

, » 504

5 % 434

4% 324

Question Number : 111 Question Id : 5447341231 Display Question Number : Yes Is Question
Mandatory : No

A galvanometer may be converted mto ammeter or a voltmeter. In which of the following cases

the resistance of the devices so obtamned will be largest?

28 rwsa*bo&acbm wbéesé e 36 S A70)350\80. & $08 O oaitry w6’ HEECAY
ag) N IAleI) (BRI otdo?

Options:
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Ammeter of range 1 4
1A &2 o @h}éﬂﬁ

Ammeter of range 10 4

10 A .‘.!“533 e e.*:f.b&&aé
2. % o

Voltmeter of range 1 V

1V &2 o SEes

Voltmeter of range 10 V

10V 2 o SSoes
4.9 =

Question Number : 112 Question Id : 5447341232 Display Question Number : Yes Is Question
Mandatory : No

A toroid of n turns, mean radius R and cross-sectional radius a carties current [. It is placed on a

horizontal table taken as xy-plane. Its magnetic moment m

n & ke, R ik .:}“53“2;‘,1.1), a wcéﬁ@ DTV £DA% w8 S'Trané [ ©d xS
ATF <A &) 0. 0 xy 83 w8 £92 VArodd SU GG, BoNS T s,
OODI) od gPSID

Options :

1s non—zero and points in the z-direction by symmetry

BP0 STED 280K FAyBlo DFCAW z- L HIS” ot
1. %

pomts along the axis of the toroid (m = ma)
SToné g ©f &%S° Gt
) % b
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is zero, otherwise there would be a field falling as — at large distances outside the toroid
r

1
B[O, Soroné LoD D8 ArTY O - & &0 STy 2dA eocod
3.¢

is pointing radially outwards

mg&&o:bb.urr LIOILL) Eodiad)
4, % £

Question Number : 113 Question Id : 5447341233 Display Question Number : Yes Is Question
Mandatory : No

When a piece of a magnetic substance 1s put in a uniform magnetic field, the flux density inside it is
four times the flux density away from the piece. The magnetic permeabulity of the material is

28 B, 00 2TTR) NE0D LADT 08 ESANG’ EoWRYYE T 60D DT Frogd
008 BAT Ao 4 5w 66, wond & Srgaw aws) OO 08 L s

Options :

1.331

Question Number : 114 Question Id : 5447341234 Display Question Number : Yes Is Question
Mandatory : No
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A magnetic field given by B(t) = (0.2 t — 0.05 £2) T is directed perpendicular to the plane of
a circular coil containing 25 turns of radins 1.8 em and whose total resistance 15 5 Q. The

power dissipation at 3 seconds is neatly
B(t) = (02— 0.05¢) T 0 8 wokodrjod £330 25 Sritiow, 18 em frgaam, 5.0

200 B¢ A 2,8 HTTE AL o BN BALREHE. Bowd 3

RN 3“:.‘1)%5 AR O™ Jodh?

Options :
1 % &P

Question Number : 115 Question Id : 5447341235 Display Question Number : Yes Is Question
Mandatory : No

A coil having 500 square loops each of side 10 ¢m 1s placed normal to a magnetic flux which

increases at a rate of 1 Ts™L. The induced emf is

500 0t SDAS 8 BAOTTEY Sriusot) 2030 10 om. &Y 1Ts™ Gewd LB
w8 wuﬁ:&a}o@ DTIFIS VoA o). oNd DB Dm}gmbvmm Dodh?

Options:
1 % 01V
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1V
3. %

4.« 5V

Question Number : 116 Question Id : 5447341236 Display Question Number : Yes Is Question
Mandatory : No

The current and emf through an inductance differ by phase by:

8 DS ' DAS DI HB0IY DEEVSLVOL G GTEGEAN

Options :

m

1.8 4

Question Number : 117 Question Id : 5447341237 Display Question Number : Yes Is Question
Mandatory : No
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A radio receiver antenna that is 4 m long 1s oriented along the direction the electromagnetic

wave and it recerves a signal of mtensity 8 X 10" W.m™?. The maximum instantaneous
potential difference across the two ends of the antenna is
4 o Teiy) v BEGT SborTe [rars BoBT) DABC) 08 Bboff B3 Eotwod.

2080 @6 8 X 107" W.m™* 838 o oderod Tododoos. 08T aoS), Bot
D360 Moot 10k B5e TEAHES BHean dod?

Options :

L L23uv

, v 31V

L 31uV

4% 1760V

Question Number : 118 Question Id : 5447341238 Display Question Number : Yes Is Question
Mandatory : No

Photo cells convert

65" L0880 GBI @D DGATT 23°C0NA0?

Options :
light energy into mechanical energy

| o Tod 35D airodssim

heat energy into electrical energy

& 38 D[S ST

2. %
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light energy into electrical energy
P 5,035 DS IST

electrical energy into light energy

:Jm5& 233 SoRFST
4, % = ==

Question Number : 119 Question Id : 5447341239 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is the property of Rydberg constant?

S0 T2 DB B& &8 fgcﬁ“asm aX0E), G56) A7

Options:

It 1s universal constant
08 JO(8s fé'.!ﬂ“cs;ip

It 1s same for all hydrogen like atom
098 E2D D TPOD HEITFLDHNHVL WBEUTT Gobod

It depends on the atomic number of the atom
€98 DOQTPEDY) AIVG), DOITED Vo 2 L0 DEIAD

It depends on the mass number of the atom
98 DOJTENY) CIVE), B ok R 2 BE"E DEXAW

Question Number : 120 Question Id : 5447341240 Display Question Number : Yes Is Question
Mandatory : No
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If current in diode 1s five times that in R; and breakdown voltage of diode is 6 V., find the value of R?

AB G0 &Y R13m5e5 T8 5 o 3&56 GG Mofe DOTRIY) . GOrE aog) Boad
S8 6V wond, R devd Jod?

R
0V Ri=1k

Options :
1 % 2000 @

2000
v 3
3. % 1000 &2

1000
4% 3

Chemistry

Section Id : 54473424
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
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Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 121 Question Id : 5447341241 Display Question Number : Yes Is Question
Mandatory : No

In the electronic configuration of which of the given elements. ‘Aufbau principle’ or (n + [)

rule 1s violated?

d0d T8365° Q Surede aWE), DO 333“5‘&3:1 e39eT oo S (n + 1) JahAards
Dd:g:.xw GOt ?

Options:
Mn

1. %

Ga
La

Pu

Question Number : 122 Question Id : 5447341242 Display Question Number : Yes Is Question
Mandatory : No

To which orbital among the following may an electron having zero angular momentum belong?

§riaD Gagdo AP (0 JUTD Sod WONEPYES" D B)ErSS oty

Options :

1_@,33

2. % 3P
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3 % 3d

et

Question Number : 123 Question Id : 5447341243 Display Question Number : Yes Is Question
Mandatory : No

The electron in an hydrogen atom jump on absorbing 12.75 eV of energy would jump to otbit

PR j.g"f}ja.ﬁ RSN é}ug“b 12.75 eV 382 %ﬁizzomml@hm 3 Sibﬁé 8 HB56%0
ALTAV
Options :

1.“*’33

Question Number : 124 Question Id : 5447341244 Display Question Number : Yes Is Question
Mandatory : No

Effective nuclear charge 1s maximum in case of
DO Sols eI OSBIBSMT (f0 WS

Options :

Lithium

1% DA ode
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Beryllium
, » 2690

Oxygen

3 % uébe::.f%

Fluorine

Question Number : 125 Question Id : 5447341245 Display Question Number : Yes Is Question
Mandatory : No

Identify the mcorrect order corresponding the mentioned property?

S0 RARAD FeL DIG AFDWD &Ly 28 Te3e5° DB 26 5°?

Options :
Al,03; < MgQ < Na,0 < K,0 : Basicity
Al;03 < MgO < Na,;0 < K,0 + 368

NH; < PH; < AsH; @ Acidity
NH; < PH3 < AsH3 @ ©8:08C0

' ] : < : ic radin
Lit <« Nat < Kt <« Cs™ : Tonic radius
&

Cs™ : esirDe 5“5.3“60
3. ® »

Li << Be < B < C * First Jonization enthalpy

, Li<Be<B<C: 2068 ocrasad Doy
4.+
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Question Number : 126 Question Id : 5447341246 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Helium & Beryllium have similar outer electronic configuration ns?
Reason (R): Both are chemically inert

DR Baw (A): 7dabo, B6dato v 28 P JUTD DTRAD 15 62) 6
S50 (R): Boter SIra300m 26 ErHdn S8 Gotron

Options :

Both (A) & (R) are correct & (R) is the correct explanation of (A)
- (A) 208030 (R) Seter 26 2200/ £0doin (R), (A) £ 26 22008 JH08

Both (A) & (R) are correct but (R) 1s not the correct explanation of (A)

L o () 208030 (R) Goci 8 ©0209D 308030 (R), (4) £ %0 wand H6m 60

(A) 1s correct but (R) is incorrect

L (8) %0 o 579 (R) 00 @008 57

Both (A) & (R) are incorrect
4w (A) 20003 (R) Bodior 20 2000 5°a)

Question Number : 127 Question Id : 5447341247 Display Question Number : Yes Is Question
Mandatory : No

Which among the following represents zero overlap?

S0 T°IS” DB BR[| VAITI) ATDRR?

Options :

1. %
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2. %
|
------ % : S
3.¥
’ z
——————————— -
4, ®

Question Number : 128 Question Id : 5447341248 Display Question Number : Yes Is Question
Mandatory : No

According to “Molecular orbital theory”, which among the following diatomic molecules only

has m-bonds?

ot 80erd fbg"oéo 95°00, Sotd AP B(OEATEDS LVVS’ T-LI0TT ATdaD
$ORAN ety 267

Options :

AP EAPCET 2021



AP EAPCET 2021

BEZ

Question Number : 129 Question Id : 5447341249 Display Question Number : Yes Is Question
Mandatory : No

If two molecules of 4 and B having mass 100 Kg and 64 Kg and rate of diffusion of 4 is
12 X 10~°, then rate of diffusion of B will be

A . B 093 Toth s0)osd (o eroren SR 100 Kg & 64 Kg oo 20808 4 aaws),

TR0 12 X 107 e0owd, B aing), T 6w

Options :
-3
1« 15 x 10

=3
L« 64X 10

3 % 36Xx107°

4 % 10x107°

Question Number : 130 Question Id : 5447341250 Display Question Number : Yes Is Question
Mandatory : No
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A cylinder contains a mixture of 5 g of N, and 6 g of Ar gases. If the total pressure of the
mixture of the gases in the cylinder 1s 30 bar. then the partial pressure of N, gas 15
(Molecular mass of N; = 28 g mol ™. Atomic mass of Ar = 40 u)

511 N, 08050 6 Ty Ar oosPen (0 Tas D3 w8 TS 68) 6. &8 Do
Ado 60 30 &r6e wand, N, Tabow) aog), 48 dEvo
(N eomgdoe3 = 28 g mol ™, Ar ee@S(ord= 40u)

Options:

1 16.36 bar

, o 0545 bar

3 % 30 bar

, « 0180 bar

Question Number : 131 Question Id : 5447341251 Display Question Number : Yes Is Question
Mandatory : No

The equivalent weight of Fe m Fe,04 15 (Atomic mass of Fe = 56 g mol™)

Fe,0; & Fe aing) B0R] B (Fe ag), 26370 33(0°3 56 g mol™t)
Options :

, o 186

5 % 28.0

AP EAPCET 2021



AP EAPCET 2021

14.0

Question Number : 132 Question Id : 5447341252 Display Question Number : Yes Is Question
Mandatory : No

Calculate the amount of hydrogen gas required m order to produce 100 g of ammonia by the

reaction of Ny G and H,, . gases.

) (9)

Ny ) 00080 Hy ) Ta800 o) 100 g & 37) QOITD 63y Balvbw TV
TEBS T00S) o0

Options :

35.29 g

1. ®

, o 17659

L x 2811g

34 g

Question Number : 133 Question Id : 5447341253 Display Question Number : Yes Is Question
Mandatory : No

The heat liberated when 1.89 g of benzoic acid 1s burnt in a bomb calorimeter at 25 °C
mcreases the temperature of 18.94 kg of water by 0.632 °C. If the specific heat of water at
25°C 15 0.998 cal / (g — °C) . then find the heat of combustion of benzoic acid.

25°C bg 1.89 g &oxraus ?.‘?QJ“:}; ETot) EEEGQh)EJtSéG BiTH0 BoBodT DeVICD &58510
1894 kg © O 60’68 0.632°C 20dod. 25 °C 3¢ 26 D30 0998 cal / (g — °C)
oS Boaraw$ Bao NG 53"S’§§° Dend
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Options :

_— 2540 kJ mol™?

, % 1975 kI mol™

3« 3240 kI mol™

4 % 2825 kI mol™?

Question Number : 134 Question Id : 5447341254 Display Question Number : Yes Is Question
Mandatory : No

For strong acid and strong base neutralization net chemical change is
HY +0H™ - H,0 (1) AH? = —55.84 kI mol™*. If enthalpy of neutralization of CH;CO0H
by NaOH is 49.86 kJ mol™* then enthalpy of ionization of CH;COOH is

BVEVR SR, DR PO BOSCRS DS B6j H + 0H™ - Hy0 (1) AHy =
—~55.84 kI mol™L. CH,CO0H & NaOH & a6y améscn 6e° am?gsm ogrdy
49.86 kT mol ™ e2000%, JOBS es:300 G308), ARG Doy

Options :

1@ 5.98 kT mol™1

—5.98 kT mol™!
2. %

5« 105.7 kI mol™

—59.8 kI mol™1
4. %
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Question Number : 135 Question Id : 5447341255 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statements 1s true when equilibrium 1s established i the reaction?
A+B=C+D, K, =10
A+B2C+D, K, =10 00 5300338 6089 ) $06 pouarod’ DA Jusw?

Options :

., [C1D] = [4](B]
, « [€1=[41&[B] = D]
., [41B] = 01 [C][D]

4 » [Al=[Bl=I[C]=[D] =10M

Question Number : 136 Question Id : 5447341256 Display Question Number : Yes Is Question
Mandatory : No

The reaction N, @t 3 Hztg) = 2 NH3(g) is exothermic and reversible. A mixture of

N

@’ Hz{g'} and N Hg(g} 15 at equilibrium in a closed contamer. When a certain quantity of

extra is mntroduced nto the container. while keeping the volume constant, then which

statement among the following is true?

Ny T3Hyg = ZNH; ) 030 28 eRAress dakw &doral B0[. 28 AP GOt
F&d' Nog) 1 Ha g 08080 NH; 0 D303 rowg@e‘i‘ &) 8. o BTy
f-cgdorr’ Eot) &8 TP VS 9ddore 28E e H, @ A S@bb@bm $oB TS' Ve eBV N 26

Options :

1. %
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The pressure inside the container will not change
Dre9es® Hetdo STGE.

Equilibrium condition will not change
ﬁmwfg@ ﬁﬁfg@ DTG0,

The temperature will increase
&' DB

The temperature will decrease

 &alEe S,
4' F Ea (3]

Question Number : 137 Question Id : 5447341257 Display Question Number : Yes Is Question
Mandatory : No

The volume strength (in L) of 3 N H,0, is approximately
3N H,0, grodmndon ains), 2000855600 meEd (@e:rgaﬁe}
Options :

3

1. %

Question Number : 138 Question Id : 5447341258 Display Question Number : Yes Is Question
AP EAPCET 2021
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Mandatory : No

Bleaching powder can be obtained by which of the following reactions?
B 31D BB DB DDoff Jed SairdS EDEBr (DT
Options :

i}
- Mg[QH)z = Fz —+ AWQOFE > = HEO

_ A
C{I(OH)2+CEE = C{IOCFE +H20

-

_ A
. Ba(OH), + Br, —— BaOBr, + H,0

A
- E(I(OH}z‘i‘Fg 3 CHOFE ‘i’HEG

Question Number : 139 Question Id : 5447341259 Display Question Number : Yes Is Question
Mandatory : No

Aluminium (ITT) chloride forms a dimer because aluminium

w531330‘.i)o (III) §6 BE 2,8 B(RrDEAnR i)dbcm)eas; fie) 5°6830, wwéfbaomo

Options:

belongs to Boron family.
- 5" 0" S0t0eT S ToA ToaHD

has a very high ionization enthalpy.

L 00 D SoIrREND Dogdy DA Gocotr DD
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can have higher co-ordination number.
DS, RAJLOH Do £8A Gotwod ST

15 next to Magnesium,

. mﬁlﬁnodjo ST Aarede sted)
4. ¥ =

Question Number : 140 Question Id : 5447341260 Display Question Number : Yes Is Question
Mandatory : No

Which of the following species do not exist?

S0 2rdowes” DA Bﬁ;jciae:; ?ﬂ;ﬁ“f;‘:?go'?
Options :

- [SiF]*

L [SiCl 1>

- [GeClg]*™

4 x [SiFs]

Question Number : 141 Question Id : 5447341261 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following practices will not come under green chemistry?

(i) Using soaps made of vegetable o1ls instead synthetic detergents. whenever possible.
(1) Using H,0, for bleaching purposes mnstead chlorine based bleaching agents,

(in1) Using liquetied €0, for dry cleaning clothes and laundry.

(iv) Using plastic cans for neatly storing substances

Sod L' £rBS 6raDd TR H06S" 6 ST ot
(1) 35782008, 5,80 E;eagoes V%) LR 3y WVokol Borwd Dabeg RNV TR,
(ii) §89 eTrdd Doz SRV WERIM Hy0, R0 T
(i) eagge 208050 erog, & 3306 §68 €0, R0 o
(1v) SR0D0R BEIEXDVE) VS Cer O G Aot
Options :

(i) only
| () ared

(ii) only
, o (iD) 3rgd
(iii) only
3 % (iii) e
(iv) only

, o (V) Brad

Question Number : 142 Question Id : 5447341262 Display Question Number : Yes Is Question
Mandatory : No

Which among the following possesses a sp carbon in its structure?

S$0d “n};ﬁoy.:fa“uﬁ“ B8 sp 576y So?
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Options :
. CHy; =€l —EH = CHBr

9 % CBT’,_L

4 % CoHs = CCls

Question Number : 143 Question Id : 5447341263 Display Question Number : Yes Is Question
Mandatory : No

In thin layer chromatography. a substance moved by a distance of 4 cm. where as the solvent

moved by a distance of 5 cm. Then the value of retardation factor (:Rf) 15

28 DO T g Sot5° fjﬁb Qcﬁ:‘ﬁm!ﬁia, ﬁtﬁ“g;ﬁw 4 em, g";ﬁsﬁ 5 cm S6938. oo
beasdm Ry Q0D

Options :

. 08

, » 10
3 % 9.0

4 n E75

Question Number : 144 Question Id : 5447341264 Display Question Number : Yes Is Question

Mandatory : No
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Identify the products (P). (@) and (R) formed from the following reactions:

A0S tﬁc.‘;ge.:@“ (P). (@). (R) &&=y SR

umw
+ Cl, (excess) > (P)
e840 500 K
e:m“g AlCl4
, anhw}d. AlCl,
+ Cl, (excess) =
b0 Dark, Cold
OH
. N1, 473 K
+ H, (excess) > (R)
0830 Under Pressure
w&3 Do de
Options :

(P): Benzene hexachloride (Q): Hexachlorobenzene (R): Cyclohexanol

(P): Bo&S 51506 (Q): rs"\E6 Bodd (R): 2§ 5=\J&
1.¢ F & B

(P): Hexachlorobenzene (Q): Benzene hexachloride (R): Cyclohexenol
- (P): 35 \56 Sod (Q): B82S >sy§0E  (R): 2§ 5oy06

(P): Benzene hexachloride (Q): Hexachlorobenzene  (R): Cyclohexane

. (P): 8083 2rs\E0& (Q): 75 \E6 @D (R): p§ 8\
3.
(P): Hexachlorobenzene (Q): Benzene hexachloride (R): Cyclohexane
(P): ::as«bgs B2 (Q): 30D ::vs“ﬁg& (R): 28 RS
4, %

Question Number : 145 Question Id : 5447341265 Display Question Number : Yes Is Question
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Mandatory : No

Match the following?
Sod AN BSHGWG?

Reaction Nature of reaction

wd§ 2 / 0f RLErPS0

(1) Partial reduction

(a) RBr LN F2¢ dahednaw

(i1) Electrophilic addition

NaOH
(b) RCOO Na a—:p aveﬁjﬂﬂ)ﬁ RoSwHAW
Ca0,A e
e (111) Wurtz reaction
Lindlar’s
() R-C=C-R —m— & 50§
Catalyst (H,) .
B /CC1 (1v) Decarboxylation
. I v
(@) L=l — iwaébﬁqﬁ

(v) Decarboxylative dimerization

CET8\T05 E0gRnd

Options :
- (a—idit),{b—v),(e—i),(d—ii)

5 (a—iii),(b—iv),(c—i),(d—ii)
{a—i) A h—m)e—4)(d—3)

3. %

4 % (a—v),(b—i),(c—iii),(d—ii)

Question Number : 146 Question Id : 5447341266 Display Question Number : Yes Is Question

AP EAPCET 2021



AP EAPCET 2021

Mandatory : No

If each edge of a cubic unit cell of an element having atomic mass 120 and density

6.25 g.cc ™ measures 400 pm. then the crystal lattice is

28 TEE AP DO ds), DS ot &) 400 pm. & ArwgaD DO legu"%
120 208050 Fogih 6.25 g.cc L. &3 088 posw

Options :

Primitive

- ToDs

Body centered

5 o evoch: Soled

Face centered
HOE Sodd

End centered

evodh| SodHed

Question Number : 147 Question Id : 5447341267 Display Question Number : Yes Is Question
Mandatory : No

Which among the following 1s a colligative property?
&S B3dHD Gﬁﬂ“éueﬁﬁ SRRy DE?

Options :

Surface tension
@u@bge:ﬁ
%

2.

AP EAPCET 2021
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Osmotic pressure
BT D6 DEDHIW

Optical rotation

3 % (33e063 S 03 ZJD0E0)

Viscosity

5
(3
4, % :-J;l@ej

Question Number : 148 Question Id : 5447341268 Display Question Number : Yes Is Question
Mandatory : No

2 g of anon-electrolyte solute (molar mass is 500 g mol ™) was dissolved in 57.3 g of
xylene. If the freezing point depression constant Ky of Xylene is 43 K kg mol™t. Then the

depression in freezing pomt of Xylene is

2 g eariy o @™o (om@3d 500 g mol™) & 57.3 g © 309" s6Aerre. 30O
aaWE), 20DBID FH QYT Dorego Kr Dewd 4.3 K kg mol ™. eand A9 08,

@ @ -
20R0BID gva D8

Options:
1 % h7.3 K

> 03K

L« 43K

4 % 0.002K
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Question Number : 149 Question Id : 5447341269 Display Question Number : Yes Is Question
Mandatory : No

A catalyst 1s a substance which
&3 0S50 Bodn DI

Options :

Changes the equilibrinin concentration of the products
ﬁmﬂ“?&:ﬁ :::cg %@D&‘}m.) T Geedald ;ﬁJ“CiJ;jF&J

Changes the energy of the reactants
S0 205" WoddS IS GO\

Shortens the time to reach equilibrium
‘ﬁmﬂ‘%ﬁﬂ) 9351511“ t)dhmmm

Changes the equilibrium constant
mmw%@ i‘gn‘*osm DD ATPEI R

Question Number : 150 Question Id : 5447341270 Display Question Number : Yes Is Question
Mandatory : No
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Compounds A and B react according to the equation 24, + B(g) = 2C(g) + Dy
The initial rate of formation was determined at different initial concentrations of 4 and B . The
following results were obtained. The rate law for this reaction may be [All

concentrations are m mol /lit]

A 80605 B 00900 24 + By — 2 + D) HeDSSm 9576500 6] 2D,
©5002) T80 DO w6 5602 Gen :)gonofbw Sob dTroBanen vPot)Na) LA &
£50] 08, B0 ovAr) 8R0E) oc.. [03) reden mol/lit & adReId]

Exp No Initial [4] | Initial [B] Initial rate of formation of C
Q0rfan | wdozs[A] | es6ez [B] C D6y #5602 B
1 0.1 0.1 6x107°
2 0.3 0.2 7.2% 1072
3 0.3 0.4 2.88 x 1071
4 0.4 0.1 24%1072
Options :

Rate = K[A4]% [B]
. o O =K[A]* [B]

Rate = K[A4] [B]?

- ot = K[A] [B]?

Rate = K[A4] [B]

, » 3 =K[4][5]

Rate = K[A]? [B]°
. Sew = K[4]% [B]°

Question Number : 151 Question Id : 5447341271 Display Question Number : Yes Is Question
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Mandatory : No

If the rate constant for a first order reaction s k. then find the time required for completion of

80 % of the reaction.

28 DB §708 B0[ A, G ?guvoSo R0 k aIYP), B w] 80 % Ipd b
5'.}%.31) 0o

Options :

2.v Kk

3. % k

4. %

Question Number : 152 Question Id : 5447341272 Display Question Number : Yes Is Question
Mandatory : No

Colloids can be purified by
Serant oo &0 HOBUPAD BobDWIy

Options:

Condensation
- BDBHDAD / PoDODHAD

AP EAPCET 2021
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Peptization
RElLRY

Coagulation
R),0GRAW
3, %

Dialysis

4V casrdhd

Question Number : 153 Question Id : 5447341273 Display Question Number : Yes Is Question
Mandatory : No

Shape of XeF, molecule is
XeF, om0y 35,8

Options:

Pyramidal
1 % 28

Square planar
Ao DBLGRD

Triangular planar
RS G020

Linear

SO
4, %
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Question Number : 154 Question Id : 5447341274 Display Question Number : Yes Is Question
Mandatory : No

Which reaction(s) among the following produce Dinifrogen?
ESE22020 DoTHR BSOjRD & So& TS° DD?

(1) Ba(N3), —

(iv) NH,Cl+ Ca(OH), —
Options :

(i) & (iii) only
1¢ (i) & (iii) Soraddo

(ii) & (iii) only
, o (i) & (iii) 3rgd

(iii) & (iv) only
L o (i) & (iv) 2rgd

(ii) & (iv) only

L x (D) & (iv) arg®

Question Number : 155 Question Id : 5447341275 Display Question Number : Yes Is Question
Mandatory : No
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HCLO, 1s a stronger acid than H,S0, due to which of the following reasons?
(1) Oxidation state of Cl in HCI0, 1s +7 and that of S in H,50, 1s +6
(i) €l 1s more electronegative than S
(i11) HCLO, 1s monobasic, whereas H,S0, 1s dibasic
(iv) Cl04 part of HClO, can break 0 — H bond more easily to liberate a proton than S0,
part in H,50,

& 808 o’ dAdvs H,50, 87 HCLO; e)020% 800

(i) HCLO, &° Cl 386t Roomdy +7 080k HpS0; 6" 38868 03] +6

(il) S o83 (1 S oo Do) 6 $BA &) &

(ifi) HCLO, D586 et e0od, H,S0, B0 8w

(iv) 0 — Hwogrdy, HCIO, & eriod Cl0;, H,S0, &' aripod S0; $37)
oZBERT DETEO TS & DB VirsBorstd

Options :
(i), (ii) & (iii) only

- (1), (ii) & (iii) Soegdd

(1), (ii) & (iv) only
(@), (i) & (iv) 3red

(i), (iii) & (iv) only

3 % (i), (iii) & (iv) arado

(ii), (iii) & (iv) only

4% (ii), (iii) & (iv) sargh

Question Number : 156 Question Id : 5447341276 Display Question Number : Yes Is Question
Mandatory : No
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2- 3+
The geometries of [Ni (C 0)4] » [PtC [ 4] and [C G(NH3)6] respectively are:

[Ni(co),]. [Pc6ﬂ4]z_ 208030 [CG(NH3)6]3+ © e3gd0e DA

Options :

Tetrahedral. Tetrahedral and Octahedral
::f:e:&or.béséﬁ, :ﬁe:&odoéii, eE0D

Tetrahedral. Square planar and Square pyramidal
::’ae:&oci:éﬁ, PSL RDALCRAD, AV mm‘*és“ci;jp

Square planar. Square planar and Octahedral
RS tHBLGR0L, Do BSLCRHAD, aﬁ.&mgﬁ

Tetrahedral. Square planar and Octahedral

4 r;ﬁe:&ocbéil, Rude BHSOGRHWD, w@;&niﬁ

Question Number : 157 Question Id : 5447341277 Display Question Number : Yes Is Question
Mandatory : No

Vitamin-A 1s called

DeDD A & ™ e

Options :
Ascorbic acid

- D),8,5 B0

Retmol

5 @ o8
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Caleiferol

_ 5ODTS
3. %

Tocopherol

S80S
4. %

Question Number : 158 Question Id : 5447341278 Display Question Number : Yes Is Question
Mandatory : No

The following reaction is a/an

Sod tﬁd5 a3, 6o

KOH

CHy —CH, — CH, — Br CHy;— CH = CH, + KBr + H,0

Options :

Substitution reaction
DBEDE VO

Addition reaction
ESTI{ ) ::565

Electrophilic substitution reaction
DOEHDE HAZDes B

Elimination reaction
2 DD zﬁdﬁ

Question Number : 159 Question Id : 5447341279 Display Question Number : Yes Is Question

Mandatory : No
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The major product of the following reaction sequence is:

& S0 ﬂ.‘}déeﬁﬁ md:}ﬁ &) o DE?

OH
(i) CHCI; + NaOH,,
> 7
(ii) NaOH
(iii) H*

Options:

OH
@/EHU
1.¢
OH

- CHO

OH
CHO
3. %
. :

CHO

4
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Question Number : 160 Question Id : 5447341280 Display Question Number : Yes Is Question
Mandatory : No

Which compounds among the following give positive iodoform test?
2o Fa;ijé#mmf OArE IR DOLA FB\D D ?

OH OH
H,CO -
{:Hﬂ CH:_;
I:||3
H4CO

OH CH,

(1) (ii) (iii)
0 0 OH
(iv) (v) (vi)

Options :

(i), (iii) & (vi) only
,w (i) & (vi) Sorgd

(iii), (iv) & (v) only
5 % (iii), (iv) & (v) g

(i), (i) & (v) only
5 o @) (1) & (v) 20°g0

(ii), (iv) & (vi) only
, w G, (V) & (v) 2783
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